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e C13 g il - (m) glis ) YT
blai B.S (,Inlﬁ‘nsi) F.S h & h
(m. m) (m. m) (m) + Ah - (m)
A 160.400 - - 1301.604 1300.000
0.050
B - 165.400 - - 1299.950
0.075
C - 157.900 - - 1300.025
0.254
TP; | 150.900 - 176.300 | 1301.350 1299 841
0.060%
D - 144.900 - - 1299.9()1#<>X<
0.209
E - 165.800 - - 1299.692
0.833
F 86.400 - 169.700 | 1300.517 1299.653°
0.731
G - 159.500 - - 1298.922°°
0.579
H - 101.600 - - 1299.501
0.020
I - - 103.600 - 1299.481
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Ah_ =BS—-F.S=Ah_ =150.900-176.300
TP TP

1 1

= AhTP =-25.4cm=-25.4/100 = AhTP =-0.254m

1 1

W =h +Ah_ =h =1301.604+(-0.254)=h _ =1301.604—-0.254
TP A TP rp rp

=h’_ =1301.35m
P

1

ES 17 _ _ _ _
hTP1 —hTP1 B.STP1 :>hTP1 =1301.35 1.5()9:>hTP1 =1299.841m




ok _ _ _
hD = hTP1 AhTPl,D:> hD =1299.841+0.06 = hD =1299.901m

Ah_=BS_—-F.S_ = Ah_=86.400-169.700= Ah_ =-83.3cm
F F F F F
= AhF =-0.833m

W.=h_+Ah_ =h =1301.35+(-0.833) = k" =1301.35-0.833
FTP F F F

= h; =1300.517m

*h_=h’ ~BS_=h_=1300.517-0.864=h_=1299.653m
FF F F F

oo, _ _ - -
hG = hF +AhF’G = hG =1299.653+(-0.731) = hG =1299.653-0.731
= hG =1298.922m
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AhTP = B.STP - IN.SD

1 1

: Sl J 55
S(BS)-X(F.8)=h —h,

= (160.400 +150.900 + 86.400) — (176.300 +169.700 +103.600) = 1299.48 1 — 1300.000
= (397.700) — (449.600) = —0.519 = —51.900cm = -0.519m => —0.519m = -0.519m




